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 درسي کتابونو چاپول   د
 

 قدرمنو استادانو او ګرانو محصلینو!

ستتتون و ه تته ګېتت. روتت     تتو  افغانستتتاپ  تته  وننتونونتتو رتتک د درو رتتتایونو رشتتوای  او نیتتتوای  یتته یو تتو   د 

او یتته نغتتو  ستت  نتته یتتر ا  تته زا ت میتتتود لاتتدر   رتتو   او محصتتلین نو تتو مالومتتالاو لاتته      ر استتتاداپ و ز تتاش  تتش 

 ریفیت فولاورا ي رو    ګټه اخلي چک زا ت د  او  ه یازار رک  ه ټیټ   نه   رتایونو او چپترونو 

رایتت. ي تتي د  ا وننتتتوپ  رایتت. یتترو اخوستتتا رنتتدنارا نتتراشا یلتت ا ای  ګرنتتاراد نن ېلاتتر اوستته  تتور متتو  

عنوانتتته م تلتتتک درو رتایونتتته د يتتت ا  ۳۶۵ وننتتتتوپ یپتتتار   یتتت رایتتت.  تتتو  لا ن د  وننتتتتوپ  او

 یپار  چاپ رړ  د    ځيو  ونن ررننکاو   مواقتصادا ژورنای یر اسا ن ا انجن

او  تتو ز تتاش  تتشور  وننتونونتتو  و تتو  رتایونتته د نوتتواد ټویتتو ا ونتتد د  تتادونک و  د ا چتتک نومتتو   چتتاپ

  ټول چاپ  و  رتایونه یه  ګه وېی.  و  د لاه  ه و  ا لاو  سسالاو ادارو او مو 

 www.ecampus-afghanistan.org  ئ     اڼک ه ه ډانلوډویو    

- ۲۰۱۰   روتتت   چتتتتک د افغانستتتتاپ د یتتتو و زد  رتتتتتتتړو وزارش د  دا رړنتتتک  تتته داستتتک  تتتال رتتتک لاتتتر 

 رلونو  ه ملي سترالایژ    لاپ رک راغلي د  چک: (۲۰۱۴

چتتک  ا  روونکو لاه د نو وا رر  او علشي مالومالاو د یرایرویو یپتتار  ا  نتته د  ړو او د ښوونک د ښه ریفیت او زد  ر "د یو و زد  

  نتته د لاالیشي نصاب د ر فورم  یپتتار  یتته انير تت   ژیتتک    ا  ه در  او  ښتو ژیو د درو رتایونو د ییکلو فرصت یرایر ش 

  نونو محصتتلین او استتتاداپ  رلاه د  وننتو   امکانالاو   غو درو موادو ژیا ل ا  ن د ا یه د   او  ښتو ژیو لاه د رتایونو او  در  

  " و ی  یدا ر نه ش  س    وا لااز  او رر  مالومالاو لاه    عصر ا نو 

مرستتته ورتتړو او د چپټتتر او واد یتته  وننتونونتتو    وتت رویتتو    د نرو رتتتایونو  تته یرای  غتتوا و چتتک د دمتتو 

یپتتار  نتتر  د افغانستتتاپ  وننتونونتتو ه د  تتای ټکتت  روتت دو  د دې یپتتار  ا  نتته د  چتتک نتتود دوراپ لاتت یکچر 

 عنوانه درو رتایونه چاپ ش  ۱۰۰ت ی  لار ی  رال 

  



يههپووهیلههټووههوې وهههپووههټوکيلههوو کههلويوکتکههوووههپونههو ووداکونههټوېلیوههي وېووونههټووواسههدادانووودرنههولههټولولههووو

ېټواېودوهههالوليههار وونولونههټواېوهيوتېنههټوا هه ولووخههوالولیوههلوکههو ووداکونههټ ولو توژکهها  واېو ههاوههه وکيههو

ا ېنههپوووهيو،ههو وووودوووپووههټو ههټوویچیههاوهههالواېوېرېسههدټو ههپوږووههټوېاکووههپو ههپوراوههز وهههوتیههارووههز  و  ههوو

کيهههلوې انپ هېنهههټواېوووو وټوېاکووهههپوېروهههزېروههپارناهههټودو هههادېولوهههوووهههټوا ووهههوووتهههټووواسهههدادانوواېو ینهههلیيوو

وه نوګا ونټووورتټووزېروېودېوکتکټووپواغوټوووټوګ  وووووهپواتولټو وږوسر وشر کووز  ونظت و

 وایتتو علشتتي تو تتاش د نړد رتتتایونو مح چتتکختتوا  تتور  ز تتار ا ستتت.  تتویا نتتو او خپروونکتتو یتته ییکوا  د  

رولانتتک او ورتتک نینتتک لا ادای ش د رتتتاب  تته محتتتو وتت استتاب یرایتتر شا ختتو ییتتا نتت  ر رمایتتارونو  تت 

او  تتا متتو   لایکتتو خپتت. نیر تتاش او نیتتورک ی چتتک یتترونیلتته  نتتهنتتو یتته درنتتو یوستتتونکو ستتتون ې ویيتتدل شا 

  ه رالالونکي چاپ رک اصلاح ش  چک  ا ولاه  ه ییکلک یېه راوی

د دغه رتاب د    کمننه روو چ  ډېر   نه   روبا  ډارتر یه مشر    ک او د نغ  ټکوافغاپ ما ومانو یپار  د جرمني رش  د

رتایونو د    ي ي  یرعنوانه ي ي او غ  ۲۳۰ وننتوپ د    ګرنارد نن  لار دې مهایه  یدو    ید  ړی ورر   ک  ګښتچاپ ی

  اخیست  دی  ت ر غا  ګښتچاپ ی

او    څویک ن   ک  ړۍ د رتایونو د چاپ ی  کمننه روم چ  نه او استادانو     یسانو ر  ځیو د  ونن  یسانوا   وننتونونو رد  

  -  خپ. د رلونو   کروما چ   ک   او ستا نه    یمنندو   ډېر  نه  یکوالد   د دغه رتاب یه ی  ړېور   ر   کمرسته  

  ړر   اندېمحصلينو لاه و ګرانو   ګهلاو    ا ه و  کرلونو ز ار 

نتت  مننتته  نتتهفهتتی    ی تتي ښتتاغلي او   کشتتت ایلتته ع  تت   تتوښ ښتتاغلينشدارنګتته د دفتتتر یتته نشکتتارانو نتتر 

 دونکک نلک نلک رړې د  وو د چاپ  ه یرخه رک  ک نه ستړې رروم چک د رتایون

 

 ډارتر  حی  وردک

   ۲۰۲۲ امېرای.ا رړو وزارشا د یو و زد 

 ۰۷۰۶۳۲۰۸۴۴ا  ۰۷۸۰۲۳۲۳۱۰  ټیليفوپ: د دفتر

 info@ecampus-afghanistan.orgايمي.: 
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Abstract 

This is a quantum mechanics textbook for the third semester of B.Sc. of Pune University, 

India, written by four authors. The main purpose of the book is to provide a foundation as well 

as a comprehensive background in quantum mechanics. The subject matter has been arranged 

systematically and methodically. The language used is very simple for the students to 

understand the subject easily. Throughout the book, the mathematics has been kept as simple 

as possible. Many simple problems of all types and grades have been included. Each chapter 

consists of a sample set of problems with detailed solutions, and a further set of problems with 

answers for practice. Every attempt has been made to maintain accuracy in theory as well as in 

numerical problems. 

This textbook has five chapters. In the first chapter, the historical background and initial 

development of quantum mechanics are discussed; blackbody radiation and photoelectric effect 

(discussion without derivation); Wave particle duality, wave packets, phase velocity, and group 

velocity Discussion on the uncertainty principle with thought experiments Various types of 

uncertainty relations In chapter 2, physical interpretation of the wave function, requirements of 

the wave function The Schrodinger wave equation (time dependent and time independent, 

examples in one, two, and three dimensions), probability density and probability current density 

equation of continuity, operators in quantum mechanics, the Hamiltonian operator, energy 

Eigen values and Eigen functions, expectation values, and Ehrenfest theorems. In chapter 3, the 

hermicity of operators corresponding to observables in quantum mechanics, position, linear 

momentum, Hamiltonian, angular momentum operators, commutator brackets involving 

positions, linear momentum and angular momentum operators, raising and lowering operators, 

In Chapter 4, application of the time independent Schrodinger wave equation to: a free particle, 

step potential, potential barrier, particle in a rigid box (one, two, or three dimensions), finite one 

dimensional potential well one-dimensional harmonic oscillator with a high degree of excitation 

that corresponds to classical results. In chapter 5, energy eigen functions and eigen values for a 

rigid rotator with a free axis and with a fixed axis, separation of the solution to the Schrodinger 

equation for a spherically symmetric potential are discussed. The radial and angular parts of the 

bound state energy Eigen functions for the hydrogen atom degeneracy quantum numbers n, l, 

ml, and ms are discussed qualitatively. 
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پوهاند غنچه ګل حبیب  

 صافی
 رهارننګ

9 
د ودانیو د تودولو تخنیک، لومړی  

 برخه، د سون تخنیک 
 ننګرهار پوهنوال عبدالغیاث صافی د متیورولوژی مبادی  10 ننګرهار داکتر غلام فاروق میر احمدی 

11 
معیار های جدید اعمار  

 ساختمان
 12 ننګرهار داکتر انجنير محمد عمر تيموری

چگونگی مصرف انرژی در  

 ی ساختمان های رهایش 

داکتر انجنير محمد عمر 

 تيموری
 ننګرهار

 ننګرهار پوهاند عارف الله مندوزی  د ژوند چاپیریال  14 ننګرهار سطان احمد نیازمن  الجبر او د عددونو تیوری، لومړی برخه  13

15 
د اوسپیز کانکرېټي عناصرو د لومړی  

 صنفي کار متودیکي لارښود 

پوهندوی انجنیر عبادالرحمن 

 مومند
 ننګرهار پوهنوال محمد اسحق رازقی  جامداتو میخانیک  16 ننګرهار

 عضوی کیمیا،کړیوال ترکیبونه  17
پوهاند دوکتور محمد غوث  

 حکیمی
 18 ننګرهار

د ودانيو د جوړولو مهندسي  

 اساسات، لومړی ټوک 

دیپلوم انجينېر اسدالله  

 ملکزی
 ننګرهار

19 
د ودانيو د جوړولو مهندسي  

 اساسات، دویم ټوک 
 ننګرهار محمد طاهر کاڼی   کيميايي عنصرونه، لومړی ټوک 20 ننګرهار نجينېر اسدالله ملکزی دیپلوم ا

 22 ننګرهار محمد طاهر کاڼی       دویم ټوک کيميايي عنصرونه 21
 د اقتصاد او تجارت اصطلاحات 

 پښتو تشریحی قاموس( -)انګلیسی   

 پوهنیار عبدالله عادل 

 او امان الله ورین 
 ننګرهار

 24 ننګرهار داکتر عبدالله مهمند  لجبر خطي ا 23
روانشناسی و ضرورت آن در  

 جامعۀ افغانستان
 داکتر اعظم دادفر 

کابل 

 پوهنتون 

 26 بلخ پوهاند ولی محمد فائز مبادی اقتصاد زراعتی  25
اساسات هندسه ترسیمی 

 مسطح 

پوهنوال سید یوسف  

 مانووال
 بلخ

27 
تأسیسات و تجهیزات تخنیکی  

 ساختمان 
 نجنیر محمد عمر تیموریداکتر ا

پولی تخنیک  

 کابل 
 د رادیویي خپرونو تولید  28

پوهنوال دوکتور ماسټر 

 واحدي
 خوست 

29 
د خاورې تخریب او د چاپیریال  

 ککړتیا 
 تیوری و سیاست بودجه عامه  30 خوست  پوهنیار محمد حنیف هاشمي

پوهنوال داکتر سید محمد  

 ټینګار
 کابل 

 حیوانات مفصلیه  31
داکتر دیپلوم علی آقا  پروفیسور 

 نحیف 
 32 هرات

عضوي کیمیا، د اروماتیک او  

 هیتروسیکلیک برخه 

پوهنوال دوکتور ګل حسن  

 ولیزی
 کابل 

 د انجنیری میخانیک  34 ننګرهار پوهاند محمد بشیر دویال   ژې تحلیل او مدیریت د پرو 33
پوهنوال محمد اسحق  

 رازقی 
 ننګرهار

35 
ړی  کلکولس او تحلیلي هندسه، لوم 

 برخه 
 36 ننګرهار پوهندوی سید شیر آقا سیدي  

کلکولس او تحلیلي هندسه،  

 دوهمه برخه 
 ننګرهار پوهندوی سید شیر آقا سیدي  

 کارتو گرافی با اساسات توپوگرافی  38 ننګرهار پوهاند محمد طیب   د کرنیزو محصولاتو بازار موندنه  37
پوهنوال دوکتور محمد طاهر  

 عنایت 
 ننګرهار

 خوست  پوهنمل بهرام امیری   د موادو مقاومت 40 ننګرهار انجنیر اسد الله ملکزی ژي سمپا کوونکي ودانۍانر  39

41 
فزیکی کیمیا ګازونه او کیمیاوی  

 ترمودینامیک 
 42 ننګرهار پوهاند خیر محمد ماموند 

اطلاعاتو ته د لاسرسي لارې  

 چارې 
 ننګرهار دانش کړوخیل  

 ننګرهار پړهاند انجنیر زلمی خالقی   د فاضله اوبو انجنیري  44 ننګرهار الله صافی  پوهاند لطف   حیاتي جغرافیه  43

 46 ننګرهار سلطان احمد نیازمن  د ریاض په هکله خبرې اترې  45
-اقتصادي جیولوجي )کانپوهنه 

 فلزي کانونه( 

پوهاند دوکتور شریف الله   

 سهاک
 ننګرهار

47 
 ګروه های اجتماعی بسته  

 اختی سکتها( )مطالعه جامعه شن
 بلخ محمد نعیم نسین  ګرم شدن کره زمین  48 کابل پوهنتون  داکتر احمد سیر مهجور 

49 
الجبر او د عددونو تیوري دوهمه  

 برخه 
 50 ننګرهار سلطان احمد نیازمن 

اعمار ساختمانها )اساسات، مواد و  

 سیستم ها( 

پوهندوی  انجنیر امان الله  

 فقیری 

کابل 

 پولیتخنیک 



 

51 
نجنیري کې د اټوکډ  په سیول ا 

 استعمال 
 ننګرهار پوهندوی محمد طاهر کاکړ  وترینری عمومي پتالوژي  52 ننګرهار پوهنوال میا پاچا میاخیل 

 ننګرهار پوهنوال عزت الله  جیومورفولوژي  54 ننګرهار پوهندی ګل حکیم شاه سیدی  انجنیري جیودوزی )سرو(  53

 56 خوست  ماستر واحدی پوهنوال داکتر  د تلویزیوني خپرونو تولید  55
اوسپنیز کانکرېټي عناصر ، 

 لومړی برخه 

پوهنوال ديپلوم انجنیر  

 عبادالرحمن مومند 
 ننګرهار

 ننګرهار ذاکره بابکرخیل زولوجی غیرفقاریه  58 ننګرهار ذاکره بابکرخیل زولوجی فقاریه   57

 بلخ داکتر عبدالله مهمند  الجبر معاصر  60 ننګرهار پوهاند انجنیر زلمی خالقی  د تهداب انجنیري  59

61 
رهنمود موثریت حفظ انرژی در  

 تعمیرات
 خوست  داکتر عبدالله مهمند  معاصر الجبر  62 کابل  داکتر انجنير محمد عمر تيموری

 64 بېلابېل داکتر یحیی وردک  آلماني د افغانانو لپاره   63
د افغانستان د پوهنتونونو د درسی  

 کتابونو چاپول  
 ټولو ته   یحیی وردک داکتر

 د پروژې مدیریت په عمل کې  66 بېلابېل داکتر یحیی وردک  آلمانی برای افغانها به دری  65
محمد داود علم او يو اف .  

 ګهل
 ننګرهار

 نباتي فزیولوژي لومړی جلد 68 ننګرهار پوهاند محمد بشیر دودیال  صنعتي اقتصاد  67
پوهنمل محمد طاهر  

 میاخیل 
 خوست 

 ننګرهار پوهاند محمد اسحق رازقی  د ساختمانونو تحلیل )لومړی برخه(  70 خوست  پوهنمل محمد طاهر میاخیل  فزیولوژي دوهم جلد نباتي  69

71 
د ساختمانونو تحلیل )دویمه  

 برخه( 
 72 ننګرهار پوهاند محمد اسحق رازقی 

د مهنډسانو د پاره ساختماني  

 ستاتیک زده کړه 

دیپلوم انجنیر اسدالله  

 ملکزی
 رهارننګ

73 
د ساختمان د جوړلو طریقې )لومړی  

 برخه( 
 74 ننګرهار پوهاند انجنیر محمد عیسی تنها 

د ساختمان د جوړلو طریقې  

 )دوهمه برخه( 

پوهاند انجنیر محمد عیسی  

 تنها
 ننګرهار

75 
سیټونه او هرڅه د هغوی په  

 هکله

لیف بوکوفسکی/ سلطان احمد 

 نیاز من 
 76 ننګرهار

 عناصرو  د لویو لارو د هندسي 

 ډیزاین 

 پوهنیار انجنیر م. شاکر فاروقي 
 ننګرهار

 78 ننګرهار پوهنوال میاپاچا میاخیل  د سرخلاصو کانالونو هایدرولیک  77
د جوړښتونو تحلیل )لومړی  

 برخه( 

پروفیسور حفیظ الله وردک او  

 پروفیسور دکتور زرجان بها 
 خوست 

79 
د جوړښتونو تحلیل )دوهمه  

 برخه( 

الله وردک او  پروفیسور حفیظ 

 پروفیسور دکتور زرجان بها 
 ننګرهار سطان احمد نیازمن  د ریاض منطق  80 خوست 

 د اوبو رسولو انجنیري  82 ننګرهار ټول پوهنتونونه  انجنیري درسي کتابونه  ۴۵ 81
پروفیسور انجنیر محمد 

 عیسی تنها 
 ننګرهار

83 
اوسپنیز کانکریټي عناصر ډیزاین 

 )دویمه برخه، لومړی ټوک( 

پوهاند دیپلوم انجنیر  

 عبادالرحمن مومند 
 84 ننګرهار

اوسپنیز کانکریټي عناصر ډیزاین  

 )دویمه برخه، دوهم ټوک( 

پوهاند دیپلوم انجنیر  

 عبادالرحمن مومند 
 ننګرهار

85 
د انجنیری اساسی ریاضی  

 )دوهمه برخه( 
 86 ننګرهار    پوهندوی عبدالغفور نیازی  

د انجنیری اساسی ریاضی  

 برخه( )لومړی 

 پوهندوی عبدالغفور نیازی  

   
 ننګرهار

 ننګرهار سید شیر اقا سیدی  د تحلیلی هندسه لومړی برخه  88 ننګرهار پوهاند محمد بشیر دویال   د اقتصادي پرمختیا تیوري  87

 کيد او ګرافیک  90 ننګرهار   پوهیالی فضل اکبر    عمومي تخنیکي رسم  89
پوهنوال دیپلوم انجنیر  

 جلالي  بهاوالدین
 ننګرهار

 ننګرهار احسان الله آرینزی  نړیوالې ټولنې  92 ننګرهار شیرخان حساس د اقتصاد د علم اساسات 91

 94 ننګرهار پوهاند عزت الله سایل  اقلیم پوهنه   93
پښتو  -د طبیعي علومو انګلیس 

 قاموس

پوهنوال ډاکتر نظر محمد  

 سلطانزی ځدران
 ننګرهار

 96 ننګرهار ار راز محمد فیض پوهنی پیداګوژي  95
د جوړښتونو تحلیل )درېیم  

 برخه( 

پروفیسور حفیظ الله وردک او  

 پروفیسور دکتور زرجان بها 
 خوست 

 د اوبو لگولو انجنیری 97
پوهندوی دېپلوم انجنیر اصغر  

 غفورزی 
 ننګرهار عبدالملک پرهېز  د انسان فزیولوژي او اناټومي  98 ننګرهار

 100 ننګرهار وال حسین آرمانپوهن نیماتولوژدي  99
د کورنیو الوتونکو د روزنې  

 اساسات 
 ننګرهار پوهاند میر حالم نیازی 

 ننګرهار پوهاند محمد بشیر دودیال  د کرنې تشریحي قاموس 102 ننګرهار پوهاند محمد بشیر دودیال  د سازماني اړیکو مدیریت  101

 ننګرهار پوهندوی روزي خان صارق  دوهمه برخه   حیواني تغذیه 104 ننګرهار ق پوهندوی روزي خان صار  لومړی برخه   حیواني تغذیه 103

 ننګرهار پوهنوال محمد بایر درمل  وترنري فارمکولوژي  ۱۰۶ ننګرهار پوهندوی پیر محمد ستانکزی  وترېنري داخله  105

 ۱۰۸ ننګرهار پوهنیار اکرام الله وقار  کوانتم میخانیک  107
  لهد جرمني ژبې اسانه زده کړه، 

 اساساتو نه تر ادبیاتو پورې 
 ننګرهار داکتر اکرم ملکزی 
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113 
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Publishing Textbooks 
 

Honorable lecturers and dear students! 

The lack of quality textbooks in the universities of Afghanistan is a serious issue, 

which is repeatedly challenging students and teachers alike. To tackle this issue, we 

have initiated the process of providing textbooks to the students of medicine.  

For this reason, we have published 365 different textbooks of Medicine, Engineering, 

Science, Economics, Journalism, and Agriculture from Nangarhar, Khost, Kandahar, 

Herat, Balkh, Al-Beroni, Kabul, Kabul Polytechnic, and Kabul Medical universities. The 

book you are holding in your hands is a sample of a printed textbook. It should be 

mentioned that all these books have been distributed among all Afghan universities 

and many other institutions and organizations for free. All the published textbooks 

can be downloaded from www.ecampus-afghanistan.org. 

The Afghan National Higher Education Strategy (2010-2014) states: 

“Funds will be made available to encourage the writing and publication of textbooks in Dari 

and Pashto. Especially in priority areas, to improve the quality of teaching and learning and 

give students access to state–of–the–art information. In the meantime, translation of English 

language textbooks and journals into Dari and Pashto is a major challenge for curriculum 

reform. Without this facility it would not be possible for university students and faculty to 

access modern developments as knowledge in all disciplines accumulates at a rapid and 

exponential pace, in particular this is a huge obstacle for establishing a research culture. 

The Ministry of Higher Education together with the universities will examine strategies to 

overcome this deficit.”  

We would like to continue this project and to end the method of manual notes 

and papers. Based on the request of higher education institutions, there is the 

need to publish about 100 different textbooks each year.  

  



 

I would like to ask all the lecturers to write new textbooks, translate or revise 

their lecture notes or written books and share them with us to be published. We 

will ensure quality composition, printing and distribution to Afghan universities 

free of charge. I would like the students to encourage and assist their lecturers in 

this regard. We welcome any recommendations and suggestions for 

improvement.  

It is worth mentioning that the authors and publishers tried to prepare the books 

according to the international standards, but if there is any problem in the book, 

we kindly request the readers to send their comments to us or the authors in 

order to be corrected for future revised editions. 

We are very thankful to Kinderhilfe-Afghanistan (German Aid for Afghan 

Children) and its director Dr. Eroes, who has provided fund for this book. We 

would also like to mention that he has provided funds for 230 medical and non-

medical textbooks so far. 

I would like to cordially thank Chancellor of Universities, Deans of faculties, and 

lecturers for their continuous cooperation and support for this project.  

I am also thankful to all those lecturers who encouraged us and gave us all these 

books to be published and distributed all over Afghanistan. Finally, I would like to 

express my appreciation for the efforts of my colleagues Hekmatullah Aziz and 

Fahim Habibi in the office for publishing and distributing the textbooks. 

 

 

Dr. Yahya Wardak 

Ministry of Higher Education, Kabul, Afghanistan, May, 2022 

Mobile:  0706320844, 0780232310 

Email: info@ecampus-afghanistan.org 
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